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What is the graph doing as the number of days increases?

It continues to increase but slows down and begins to level out.

What must be true about successive terms for the graph . . . — . .
of partial sums to start approaching a limiting value? sENElineriCoSite: Tepical=Explodngy=niCipe

Successive terms must start to become smaller and smaller,
thus affecting the total less and less.
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e Convergent Series

e Divergent Series
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Which are the only types of Infinite Series
that will CONVERGE?

Geometric, if...

|r| < 1 ——>  Another way to think if this is that r must
be between -1 and 1 but not zero.
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Formula:
Sum of a FINITE
Geometric Series

Formula:

Sum of an INFINITE
Geometric Series

Ir <1

ris between -1 and 1
but not zero

S :tl(ll_—r>

J
S =1 (—] = )
l1-r
Since |r|<1, re approaches zero.

The formula becomes:

S=t1<1_0

l-r

S:tl(ll—r):%




Find this sum, if it exists.

1. 1M1+4+-3+-10+

N o A
| -1 -7

@ Infinite series
Arithmetic d=-7

Since this is an Infinite Arithmetic series it has NO SUM.

Find this sum, if it exists.

Since this is a FINITE
3. 7 + 1 0&1 3\_/1"'1 6 + ... series, it must have

asum.
+3 343

AUTTENCWIEES Sum of Finite Arithmetic Series:

n =7
}nl({'%“) th=3Y
mu s+ -Fm& n ('H'— -(-erms) /O

Using explic = formuyle S/o: Tz /—7 f’gﬂ

thz b +d (am) = 5(41)
3!1:_77 +3 (n-) 2
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Find this sum, if it exists.

2. 8\+/’I6\+j3»2\-l_-/'64 + 128 YD i finide series

XL xz XL

é)eame‘lLrlC— r;l

Since this is an Infinite Geometric series and |r|>1, this series has
NO SUM

Find this sum, if it exists.

4. 1250 + 250 + 50 + 10 + =

~—7 ~—7 ’n Lormate Sé/(f_g
X Vs x /5
Geometriv r=/5=02 s . L, _ /250
- /-r
/ T2
Since this is an Infinite Geometric
series with |r|<1, this series - /7250
has a sum: -
S=/562.5



Find this sum, if it exists.

@ Since this is an Infinite
24 . 3 (n . 1 ) Arithmetic Series, there is
5. > NO SUM.
n=1 X
Infinite Arithmetic
series

Find this sum, if it exists.

@) F (ommon ra4o = /ﬂ/
/Yy 18(1.01)!
n=1

tnfinyle

Series
éeo m Q,‘J-r't‘(,

This series has NO SUM because even though it is an Infinite
Geometric series |r| is not less than 1.

Find this sum, if it exists.

common ratio =-0.2

n-1
6. 8(_0 2) Since this is an Infinite Geometric Series
- with |r|<1, this series has a sum:
t -
Infinite Geometric S = ,_L_ =8
series series B —=-0.2.
-
T J-=2 T 22
- 2
S=6.L =b%
Hwk #7:
Practice Problems - Infinite Series
and Due: Tomorrow 9/18

More Practice pages 9-13,
Agile Mind website - Topic 1: Arith & Geo Seq & Series

Test over Topic 1 - Thursday:
Part 1. Paper/Pencil - Use the review | gave you
Part 2: Online problems - Review using More Practice and
Extra Practice on website.




